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Pd sd o q < #  #o
1 -5.473 2.967 3.804 7 3.127 24 11
2 g.252 1.948 1.878 12 3.613 29 27
3 F.148 #.859 @.872 13 3.268 24 42
4 B.145 g.328 ©.351 18 3.825 27 45
5 -§.§95 F.315 @[.329 16 2.545 33 45 1
6 -9.544 .25 B.599 18 1.856 33 35
7 F.148 F.346 B.377 12 2.388 46 34
8 -9.528 B.272 B.273 15 1.589 31 47
9 F.841 B.484 £.978 11 2+521 36 36
19 @.778 H.1768 B.796 9 2.218 41 42
11 1.@65 §.138 1.913 g 2.265 31 29
12 1.319 g.128 1.324 7 2.279 27 31
13 1.413 F.98BF 1.416 6 2.133 33 41
14 1,628 F.186 1.623 4 2.188 38 21
15 1.767 #.882 1.769 3 2.887 23 39
Po = "rational expectations" equilibrium.
3.68 P.2= 3.36 P.3= 3.12 P_4= 2.88 P/5=
9.88 Vt2= 8.48 Ve3= 7.80 Vt4= 7.2 V5=
g.05 Viz= p.08 Vi3= P.5F Vi4= B.5F5 Vis5=
2.48 Pe7= 2.16 PEB= 1.92 Pe9= 1.68 Pelﬁ=
6.68 Vt+7= 5.4 VtB= 4.8F V19= 4.20 V+18=
§.88 NiT= @.88 ViB= F.088 Vi9= §.08 Viig=
1.28 Pe12= #.96 Pe13= F.72 Pe14= g.48 Pe15=
3.88 Vt12= 2.49 Vt13= 1.80 V+14= 1.28 Vt+15=
g.08 Vilz= @F.80 Vil3= P.89 Vil4= [.0F Vii15=
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ji;15pe: B5/19/88

Pd =sd o q p #  #o
period | -1.586 F.714 1.667 & 2.894 38 25
period 2z -§.959 £.325 1.912 7 2.481 48 27
period 3 -F.660 §.886 B.666 9 2.460 42 31
period 4 -§.43F B.118 B.446 5 2.458 34 29
period 5 g.214 §.883 g.988 7 2.854 51 27
period 6 §.139 B.Pp76 F.151 6 2.538 52 33
period 7 F.349 @.156 @.374 9 2.588 37 28
peried 8 .58 F.688 ©.588 3 Z2.588 28 36
period 9 g.819 £.P1P5 G.819 2 2.498 31 42
period 1F 1.048 F.@13 1.048 4 2.488 22 34
period 11 1.336 #.833 1.336 -] 2.536 18 45
period 12 1.574 B.P29 1.574 5 2.534 41 17
period 13 1.735 @#.§85 1.735 4 2.455 26 28
period 14 1.79F #.216 1.BH3 4 2.278 44 16
period 15 @.443 B.218 @.494 3 5.683 14 27
Pe = "rational expectations" equilibrium.
Pel= 3.68 P.2= 3.36 P_3= 3.12 P_4= 2.88 PJ5=
Vel= 9.8F V2= 8.4 V3= 7.88 Ved4= 7.28 V15=
Vil= g.88 Vi2= 2.80 Vi3= .88 Vi4= B.FF Vi5=
Pab= 2.48 P.7= 2.16 P_8= 1.92 P_9= 1.68 Pg18=
Vté= B3 Vt7= 5.48 NVt8= 4.80 Vt9= 4.28 V+18=
Vib= F.88 Vi7= g.88 Vis= @.8F Vi9= B.FF Vilg=
Poll= 1.28 Po12= B.96 P_13= B.72 P_14= §.48 P15=
Vell= 3.88 Vr+12= 2.4F Vt+13= 1.8F Vti4= 1.20 V+15=
Vill= @.08 Vilz= B.89 Vi13= F.08 Vil4= F.90 Vil15=
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g.98
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= "rational expectations" equilibrium.
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Pd sd o q P # %o
period 1 -8.537 §.362 §.616 6 3.863 54 28
period 2 -#.273 §.631 B$.687 4 3.888 38 22
period 3 H.3990 §.998 B.399 1 3.518 18 28
period 4 -9.93F F.60F §.601 2 2.858 18 19
period 5 g.819 §.988 S.810 1 3.458 29 11
period & B8 Brg a,8 B Japd) 18 13
period 7 1.349 g.9@08 1.348 1 3.588 38 12
period 8 g6/8  @/8 B85 B g8 27 14
period 9 1.678 §.680 1.678 1 3.358 22 22
period 18 1.46F F.008 1.468 1 2.908 25 19
period 11 1.4F8 #.108 1.494 3 2.688 25 36
period 12 #.723 §.131 §.735 3 1.683 28 35
period 13 @.755 §.§21 B.755 4 1.475 3g 17
period 14 B/8 B8 B/8 g B8 11 19
period 15 B.487 §.937 §.488 3 g.647 11 26
Pe = "rational expectations" equilibrium,
Pol= 3.60 P_2= 3.36 Pg.3= 3.12 P_4= 2.88 PJ5=
Vel= LBF V2= 8.4 M13= 7.88 Vt4= 7.20 V15=
Vil= B.88 Viz= £.88 Vi3= §.88 Vi4= §.58 ViS=
Peﬁ= 2.48 Pe?= 2.16 Pe8= 1.92 Pe9= 1.68 Pelﬂ=
Vt6= B8 Vt+7= 5.48 VtB= 4.88 Vt9= 4.20 Vtig=
Vig= 0.88 Vi7= F.80 Vig= F.5F Vig= p§.0F Vilg=
Pell= 1.28 Pe12= B.96 Pe13= g.72 Pe14= g.48 Pe15=
Vell= 3.88 Vri2= 2.48 Vt13= 1.80 Vt14= 1.28 Vt15-=
Vitl= 5.88 Vil12= §.88 Vil3= F.8F Vil4= B.88 Vils=
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Vei=
Vil=
Pe5=
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od 1 -@.183
od 2 B8
od 3 g.198
od 4 g.783
od 5 #.768
od € 1.158
od 7 .9
od 8 1.198
od 9 g.787
od 19 £.698
od 11 B.153
od 12 F.877
od 13 @.238
od 14 @.879
od 15 [@.318

Fe

3.68 Pe2=

9.8@ V2=

B.BF Viz=

2.48 Pe7=

6.88 V+7=

g.868 Vi7=
= 1.28 P_12=
= 3.88 Vt+12=
= @.88 Vilz=
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sd
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F.885
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.80

2.16
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.88

o
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7.88
.88

1.92
4.88
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1.88
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ji;15pe: &5

P #  #o
J.417 35 18
B8 25 11
318 28 5
.583 a4 23
. 489 <] 17
.558 22 9
8,8 7 18
3.118 11 28
2.467 3 3z
2.138 26 33
1.353 13 37
1.838 3z 22
g.958 15 18
g.558 14 34
B.558 22 11
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= "rational expectations” equilibrium.
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Vig= @F.80 Vilg=
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= "rational expectations" egquilibrium.
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